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Candidates have been called for written test based on the data furnished by them in the online
application. If you do not possess the required qualification as per our advertisement, your candidature
will be summarily rejected.
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The question paper is in the form of Question Booklet with 80 Objective type questions based on the
curriculum, carrying one mark each with four options indicated, out of which only one will be
unambiguously correct.
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Candidates have to select the right answer by darkening the corresponding bubble on the OMR answer
sheet by blue / black ball point pen, only as per the instructions given in the OMR answer sheet.
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Candidates should write their Name and Roll Number in the space provided in the Question Booklet.
U2l I 3cdl &oT o TolT 3olT ¥ Tah 31 A IR e e famam Sirar g

A separate OMR sheet is provided for answering the questions.

i ITANN el YR 1 AMT & ot Thar o1 @7 8, FHAT SeoRki T HATCIA/eIeeT el
AT S FEUET Rl el a1t Fg JATaRed HANR M JereT g1 Sl et

As the OMR answer sheet is being machine scanned, utmost care should be taken while handling /
bubbling answers. No spare OMR sheet will be provided.

e gffast & ¥ e Fer ox AR wea gRawr HE (A/B/C/D/E) i 3t TH IR 3o ofie &
Ra 7T Ty W forET S R

Question Booklet Code (A/B/C/D/E) printed on the top right corner should be written in the
space provided in OMR Answer Sheet.

Tls W2 1 HE &M §, 3cal of ol W YT 37 3R I1ed oo & foIv 0.33 Fomenrs 3| forna

U2 & TS ¥ 38 3ca? g 3cal AT Sean|

All questions carry one mark each, zero mark for no answer and negative 0.33 mark for a wrong
answer. Multiple answers for a question will be treated as a wrong answer.
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SRt & TWos 3T aash S arell $efell SRars Y& A S| $6 T6Y & gARNT Jaase
9 Ugel § 8 Taid A&l &1 Tdr § gt fohar amar anfgel

Calculators, mobile phones, smart watches, headsets, reference books, logarithm table, Camera / Spy
Camera or any other electronic gadgets will not be allowed inside the Examination Hall. If caught red
hand, they will not be permitted to write the exam and such OMR sheet will not be evaluated and legal
action as deemed fit will be initiated against such Candidates. Instructions in this regard, already
published in our website may strictly be followed.

U UF H 3UTSH TUTT H 3UART IF w1 & fow frar 31 wear gl

Space available in the Question Booklet can be used for rough work.

ST FATCA g W, T TH AR Iea ofie F FW BA v By G & o ik 7w i ww aw
s ofie Pltes & g9§ #X & aur sw geeltee gfar srewreff aroer e @ o) 3 e AW efie
BIEA TAT HA WS QAU aael! qevl

On completion of the written test, tear off the OMR Answer Sheet along the perforation mark at
the top and hand over the original OMR Answer Sheet to the Invigilator and retain the duplicate
copy with candidates. Utmost care should be given while tearing the OMR Sheet.

35-gfdt @ qaT FATCA gl & A6 had YT gld BigA I AT B

Candidates will be permitted to leave the Examination Hall only after completion of the examination.
Qi & o, 3FAlEaRT 3 TH IR e YRd AR gEaeiRd Yo 99 gdasts # @l e
aifewl ot 3pafdiel o yder ua uddsts @ A6 @iar §, 3o 3 UH 3R e W Ao F
AR @igr forar Smwen| gaer 99 o e 3amadr & gddates @ dige i fSFAqy 3eRit $r g

After the Examination, candidates should hand over OMR Answer Sheet and signed Admit Card to the
Invigilator. OMR Sheet of candidates, who have not handed over the Admit card fo the invigilator, will
not be considered for evaluation. Responsibility rests with the candidate to hand over the admit card to
the invigilator without fail.

kel 3T HERTOT & URAT T &1 UIAIUIh Al ST, grelifeh 3eeant S ghaer & for e
# of et fqw amw §)

The questions in English version alone will be taken as authentic though questions are given in Hindi
also for the convenience of the candidates.
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deeiieire o (e 3iet safdend 3N sAweioes) /
Technician ‘B> (MECHANIC AUTO ELECTRICAL & ELECTRONICS)

eI AT 3R AN a0 AR & O F: AR E
The difference between the True Value & Measured Value is
(a) HYT H iﬁ' / Error in Measurement

(b) HEH AT / Precision Value
(c) HgeTefTorar / Tolerance
(d) 3WRIFT H A IS A8T / None of the above

A wereT i R 1 3R 10 Bl &, o 95 s F WER (H@ide des & F )
T &2

What is the thread diameter size (For socket shoulder screw), if the Allen Key wrench
size is 10 mm?

(a) Mi4 (b)y Mi12

() Mie6 (d M10

ATSHIAIET H e T &1 39T fohar Srar § -

Ratchet stop in a micrometer is used :

(a) AT T FERAT 9Ied T & fow / To get accuracy of measurement

(b) s = G el & foT / To strengthen the spindle
() HIT & GR=T Euser & El;ﬂﬁ @I Ushad & T / To prevent rotation of the spindle

during measurement

(d) TUSHTAE garg gﬁf%?r el & foIT / To ensure uniform pressure

el Y 3deel H A T FR FYAaH WHR F & F 3 B

is the difference between maximum and minimum size allowed in assembly of
components.

(a) HgAMdT / Tolerance (b)  &Hcar / Allowance
(¢) AT / Limit (d) T / Clearance

Teh dlec § T8l alec @ AR O T Tdg ¥ I A&7 oeerar &

is a bolt where the head of the bolt is not projected above the surface of the
component.

(a) T 838 dlec / T headed bolt

(b) EE&re dee / Steel bolt

(¢) @I3eX Telsh §38 dlee / Counter sunk headed bolt
(d) Fu &h /| Cap screw
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10.

HIFAT I ERNET ol (CRDI) RATeH F1 393eT T ST &,
Common Rail Direct Injection (CRDI) system is used in

(a) Uglel Sofal / Petrol engines

(b) SISl oA / Diesel engines

(c) Solfdesd arge / Electric vehicle

(d) 3Wed § ¥ &S T / None of the above

AfeseT A ugd et 7 & A9 @ FT 32T FAT 67

The purpose of having root gaps in joints before welding is?

(a) oo $r et & gTa & foIT / To avoid Lack of Fusion

(b) EIECT FHEIA ¥ Fd & TIT / To avoid Tungsten Inclusions
(¢) YA AT HAT ¥ a1 & foIT / To avoid Lack of penetration

(d) TIX { F9 & foIT / To avoid crack

T 3YFHIOT H AT ST FhaldTedl T Bler Al

The smallest value that can be measured in an instrument
(a) HH q FHF AT / Least count

(b) qﬁ'%JIGHI HTT / Precision value
(c) HTUT 91T AT / Measured value
(d) &I $r Gehdl / Accuracy of measurement

®¢ Hel oTell # -

In hole basic system

(a) QMFE & AHR T ¢ / Size of shaft is constant

(b) B FT 3R T § / Size of hole is constant

() BG P SR H%GU:I_)HT T TR &7 ThdT & / Size of hole can base tolerance
(d) 3RFd § & FI5 76T / None of the above

e AR selt & &g g9y F AT sTaATe R S arelr 2ee § -

The term used for relationship between two mating parts is

(a) @M / Clearance (b)  |ESUAT / Tolerance
(c) ¥&AT / Limit (d fe / Fit
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11.

12.

13.

14.

g ofy Far g &2

. What does this image signify?

L

B/

(a) dd TR Adrasr / Oil level warning
(b) SUA FR AATGA / Fuel level warning
(c) T Tdraelr / Moisture warning

(d) ¥RUT IAGeT / Transmission warning

afg 20307 & 2 mmﬁﬁyﬁ,ﬁwmm

If 2 resistors of 20 ohm each are connected in parallel, then the equivalent resistance
will be

(a) 53 / 5 ohms (b) 20 31# / 20 ohms
(¢) 10 37 / 10 ohms (d) €I §EaIar / Doesn’t change

Ao AT O AR W 8ea&y & 9 F e S &

The logic gate commonly known as Inverter is

() NOT 3E / NOT Gate () NOR 31 / NOR Gate
(c0 OR 3¢ / OR Gate (d) AND 3 / AND Gate
‘PCB’ & 3T ¢ -

‘PCB’ stands for

(a) vei¥es @fdhe S / Plastic Circuit Board
(b) celfEc® FHerel s / Plastic Control Board
(¢) Ties afde §1E / Printed Circuit Board
(d) ieg serer 1S / Printed Control Board
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15.

16.

15

18.

19.

Al &7 9RT e (Tge HeH) FEaT §
Kirchhoffs Current Law (15t law) States

(a)

(b)

()
(d)

e 3 YdY X AT emfs T AT 3H SaRA ¥ Ao ard emfs & AT F
ST &l & / Sum of emfs entering a junction 1s equal to sum of emfs leaving that

junction

SirereT 3 U3 FET arel GRTHT @1 ANT 3W SR § e dlell ORT / Sum of
currents entering a junction is equal to sum of current leaving that junction

emfs & AT + TAT YRI3HT 7 IET / Sum of emfs + sum of all current

T &7 AT v gy F AFT § / Sum of all is power in a circuit

AR ¥ SE-tfiE Yl F soegierse & 9 & 39T R S g

()
(b)
(c)
(d)

is generally used as an electrolyte in lead-acid battery.
eIl Wﬂﬁ? Tfag / Dilute Sulphuric acid

Udell gISsIdallieh tf@ig / Dilute Hydrochloric acid
qdeoll ASfee uf8g / Dilute Nitric acid
ggdr tfafes ui@s / Dilute acetic acid

3T g A3 FT 7Y E;

American Wire Grade refers to;

(a)
(b)
(©
(d

FANHA T I3 / American Wire Grade
3ANFT a3 9T / American Wire Gauge
AN g MSE / American Wire Guarded
3RS aféaT 9 / American Working Group

SeTer ofeT &, TDC 1 &1 37 §7?
In Diesel Engines, what is TDC refers to?

(a)
(b)
©
(d

g 2% el / Third Dead Centre

ZTa BfSee &wact / Top Digital Converter
a1q 22 deX / Top Dead Centre

IWFT H § Fis dAaf / None of the above

JierAESe F ADAS & acdd & -

ADAS in automobile refers to

(a)
(b)
(c)
(d)

wEaies 3ed AEH FTRT / Advanced Drive Assistance Surfaces

TSAEE FRaleld I3TaEeg @ecH / Advanced Driverless Assistance System
TEaiEs gBalad AcIHIES S f&ecH | Advanced Driverless Automobile System
TEqgiEs 3BaR AR ¥ecH / Advanced Driver Assistance System
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20.

21.

22.

23.

24.

SioTel # fohE I & eIl 39T Solgre foharT SITaT &7

. Fuel is injected during which stroke in a diesel

(a) HFYAT TS / Compression stroke
(b) HFAT FEIF / Suction stroke

()

Ty Tele / Expansion stroke

(d) TSRS Fie / Exhaust stroke

AT Wl Soieeiel (MPFI) Rieea &7 3U9iT fFam Sirar &
Multipoint Fuel Injection (MPFI) system is used in

(a) STl 81T / Diesel engines (b)  UgIel §ieT / Petrol engines

(c) Seifdca arge / Electric vehicle (d) 35Tl S#keX / Diesel generator
argd H ABS

ABS in a vehicle

(a) digsT &l el & UHdT & / Prevents sliding of vehicle
(b) HHRICHF ST UeTeT HLaT & / Provides positive braking

(©

s [Awerar & Ushar -3 ! Prevents break failure

(d) YTl ok & FT H T FIaT & / Acts as Emergency Brake

FR & AC # RA A TER FH 39T Far Sar §
Ambient temperature sensor in AC of Car is used

(a) SR & eI gAT & AYANT H TRET FT F AT / To monitor air temperature

inside the car

(b) FR & &G §aAT & ATGHA @I THERET FRA & T / To monitor air temperature

©

outside the car

T & 9T §ar & drgA T AIRET aXe & AT / To monitor air temperature

near exhaust

(d) ST & U 4T F dIYANT ST FIREY & & T / To monitor air temperature

near the engine

TFIfaf@a # & ala a7 ges R FEAT Beeq F1 e 7867 §2

Which of the following component is not a component of air conditioning system?

(a) 38X / Condenser (b)  ZAUREX / Evaporator

(©

HUYT / Compressor (d) f3TeX / Radiator

7 778-TN(MAE)



25.

26.

2.

'28.

29.

T feed &1 &3 §

The function of Steering system is

(a) dTgel T UG RGRIEGRCEGL 3R 3gFT AREYA FLT / To control the direction
and guide the vehicle

(b) dTgel & ca¥oT HI AT FEAT / To control the acceleration of the vehicle
(c) drgdd Fr 3fFar &1 I a1 / To control the braking of the vehicle

@) dagd & Hiedr s @ AT ST / To control the audio system of vehicle

“TATA ACE’ TF@ Sofr 3 317ar §7?

‘TATA ACE’ falls under the category of

(a) @oopl IMET dTgeT / Light Passenger Vehicle
(b) Y I dgsT / Heavy Passenger Vehicle
(¢) HMV Arel aigel / HMV Goods Vehicle

(d) LMV ATel aigel / LMV Goods Vehicle

MUV’ & Aded &

‘MUV’ stands for

(a) HeLI el gehel / Multi Urban Vehicle

(b) eI FRefadr =iher / Medium Utility Vehicle
(¢) #eEr FRfAEr agreher / Multi Utility Vehicle

(d) ¥ 37e egiher / Multiple Urban Vehicle

IR T A IC ot &, T $her Are e & T e QB &
In four stroke IC engine, strokes are completed for one crank shaft rotation.
(@ 2 b)) 4

() 1 ' d 8

FeT T TR Teh Roel & AT a-g Rag & &9 7 FE FA 67

Which electronic component act as One-way switch for electricity?

(a) UfFFeT / Thermistor (b) cifaEeX / Transistor
(c) F9f8eX / Capacitor (d) SIS / Diode

8 778-TN(MAE)




30.

31.

32.

33.

34.

Teh YR W “205/55R16” T 38T el 3 Far 377 §7
What does “205/55R16” on a type mean in the same order?

() TR A B, Farg, N & 9aR, R&T &1 ear@ / Radius of tyre, Height, Rim
type, Dia of rim

b)) diss, ggel 3eIaTd, AT, RA &1 ¥ / Width, Aspect ratio, Construction, Rim
diameter

(c) YR I Y, T T HIErs, aled & AT N F JHR / Diameter of type, Tube
thickness, Rim size with valve

(d) Fas, @a, A fr B, R & aw / Height , Diameter, Radius of rim, Dia of

rim

goleT feisy & e A6t A gerr & ufvar #t w7 sar &

Process of removal of exhaust gases from engine cylinder is called
(a) ThdATSTaT / Scavenging (b) Tfear / Skirting
(c) sollzaT / Blowing (d) e / Tapping

Icmﬁmﬁmﬁ;wmm%‘

Detonation in IC engine is commonly known as

(a) @lfeheT / Honking (b) AT / Ignition

(c) #fReT / Knocking (@ fedfeer / Blinking

R HRR o 2025 & Yeiel & ard H Fee W ER fhar
Government of India has contemplated blending with petrol by 2025.

(a) AYATA / Methanol

(b) S¥TeT / Ethanol
(c) il / Benzene

(d) Yder H’Fcﬁ’lﬁﬁ Uf8E / Dilute sulphuric acid

TIhiae I T qET Tew §
The major constituent of Natural Gas is

(a) ¥ / Ethane (b)  WIUST / Propane
(c) SieT / Benzene (d) AT / Methane

9 778-TN(MAE)



35.

36.

37.

38.

39.

TET T Seasie TNET HET ¥ ¥ AT S

Emission Test of a vehicle is mainly done to;

(a) ool & Yediel & A & folv / Measure the performance of engine

(b) Euel F Tud F AT B faIT / Measure the consumption of fuel

(c) drgad T@RT scafad ‘;IW Fr AT F AT / Measure pollutants emitted by a

vehicle

(d) 3T FH / All the above

WW@WWWE‘%WWWWWWWWWW
1T 87

The flexible connection and transfer of torque from gear box to the rear axle is provided
by

(a) i e / Clutch shaft

(b) Ilﬁﬁ'éﬁl’g’ﬁ Sige / Universal/Hooks joint
(c) TS ol / Fly wheel

(d) T / Axle

‘GPS’ & Q0 ATH AT §

What is the full form of ‘GPS™?
(a) General Positioning System
(b) General Preventing System
(c) Global Preventive System
(d) Global Positioning System

mmmﬁmmmﬁmﬁﬁﬁuﬁmﬁmwmﬂmmﬁ

Which gear is used for conversion of rotary motion to linear motion?

(a) Y= 3R [T f31I9Y / Rack and Pinion Gear
(b) sdel TIT / Bevel gear

(¢) @forer X / Helical gear

(d) #HeX ™I / Miter gear

‘Vehicle Identification Number’ (‘digsl Ygdled gEar) ar ‘VIN guif &l
& A T S g & e 3R §l
“Vehicle Identification Number’ a ‘VIN’ is a set of characters that are unique to
the vehicle.
(@) 15 (b) 12
(¢ 10 (d 17

10 778-TN(MAE)



40.

41.

42.

43.

44.

PTel ST arell drell goasifd W a5 e o gefier &2
What does this sign indicate on a yellow background with black border?

A

(a) &R ST Fr &M / Direction to go down

(b) fToSTelr & sTesh &I Wl / Risk of electrical shock
(c) e ® / Wet floor

(d) e FRT g3 & / Ol is spilled

HET & g AT fhar a1 gear &
Fire can be controlled by removing
(a) FSAT GIT / Heat source

(b) éﬁ?l' / Fuel
(c) SﬁEFQfITﬂFi'/'dTg / Oxygen / air
(d) 3IWRFT 7 & s Y / Any of the above

AAAHE 7 7 AT @ T §3 CO2 T g2ffar &2
In a fire extinguisher, which colour band indicates CO2?
(a) hrelT / Black (b)  &rer / Blue

(¢) ¥ / Red (d)  ¥%e / White

U [T Hohd St $o AMaiafedl a1 saaer & yfadfad a1 kg a=ar &, 38 e &
q foraa geimar Sar g7

A safety sign that restricts or prohibits certain activities or behavior is indicated in

(a) drer LT &Y 5[5_63{\@' drell shlell ﬁﬁgs’l' / Black triangle with yellow background

(b) Hhg t{“‘o’ﬁ\ﬁ' qrell el ded / Black circle with white background
(c) Whe qSSHTH arelm o g / Red circle with white background
(d) whe T‘b"ﬁiﬁ? arell g3 g / Green circle with white background

ST W el AT GR&T 3USUT WK FRET ITRIOT w1gT 87
Which among these safety device is not an active safety device?

(a) Urdis sfher fATeA / Antilock braking system

(b) TR 9T / Air bag

(© Foeliare fEuRar fA==or (ESC) / Electronic Stability Control (ESC)
(d) =13 oSt B¥ed / Night vision system
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45.

46.

47.

48.

49.

50.

3 & A & AR, I V= dleds], [= 3e 3R R= 9fay
According to Ohms law, if V = Voltage, I = Current and R = Resistance
(a) V=IR () I=VR

(¢ I=R/NV @ V=IR

3ectelel H 8 #9T §

The stationary part in an alternator is

(a) #HIeX / Motor (b) UeT / Rotor
() ¥TeX / Stator (d) wsT=eX / Adaptor

e el I GG el drell 3THT ©

The device which stores electrical charges is

(a) TUTRF / Capacitor (b)  wfcRIts / Resistor
(c) sﬂgﬁﬂ / Insulator (d) 3Tl / Semiconductor

Yo & RBrarer & R, ST FUiaT giar &
During discharge of battery, the energy conversion is

(a) ﬁa:{la?l' T ORI / Electrical to chemical
(b) ﬁa:ﬂ?-f & AT / Electrical to heat

(¢ TEafas @ ﬁa}’_lsc—-f / Chemical to electrical
(d) TEEE® & FSAT / Chemical to heat

e wferler & 79 & T sgeFa 3U0T §

The instrument used to measure electrical resistance is

(a) UTHIET / Ammeter

(b) 3FHET / Ohmmeter

(c) dlecHel / Voltmeter

(d) 3WFd # & FI5 =76l / None of the above

HT 6 7T 5FG &

The fundamental unit of measurement are
(a) <«TS, Ea1d, 3MIdel / Length, Pressure, Volume

(b) ETS, GSIATA, 3 AdT / Length, Mass, Volume
(c) ©€TS, ga1d, AT / Length, Pressure, Time
(d) €S, geUAT, AT / Length, Mass, Time

12
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al.

52.

53.

54.

55.

HHRIUT YT THFATIR HT 3T Fleh, §H HIUT eIl Hha & TQITT

Using right angle set square, we can make angles except

(a) 75° (b) g0e
() 60° (d) 300

SoNfaRer ggar #, ugen gt e Ul 7 gar §7

In engineering drawing, the 15t quadrant is in which position
(a) HP & FW, VP & 4 / Above HP, behind VP

(b) HP & &I, VP & 39T / Below HP, in front of VP

(0 HP & 39, VP & AW / Above HP, in front of VP

(d) HP & &, VP & 9 / Below HP, behind VP

Jfreifofthen sregor 4, fRelr awg & Y gu fwwt @ e ganr gfEr s 2
In Orthographic projection, the hidden parts of an object are represented by;

(a) AT gdelr @1 / Continuous thin line

OBGEIECD ollSel / Long-break line

(¢) f@ar A [T / Continuous thick line

(d) AR geell [@T / Dashed thin line

TAANT 7 Feanr el & e B S @& 39 e E@iY e 82

The Isometric drawing are drawn using which degree angle from vertical axes?
(a) 60° T / 60° angle

(b) 300 HIUT / 30° angle

(c) 4bo ﬁ'UT / 45° angle

(d) 39Ued H & FIS 787 / None of the above

Uh €] HI oidTs 9 §9 §l FHH AdeS & & Tg

An object measures 9 inches in length. It means it is
(a) 22.86 TAHAT / 22.86 mm (b)  2.286 THT / 2.286 cm
() 228.6 AHT / 228.6 cm (d) 2286 AT / 228.6 mm
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56.

57.

58.

59.

60.

61.

Tk gl Bed & Fde Ao Bow gl &2
A pentagonal prism has how many parallel faces

(a) 0 (b)
ey 2 @ 3

a5 et ot =pitet, Reglex & 727 @ &, Fooneh &

A fraction where the numerator is greater than denominator is called

(a) 3T T/ Proper fraction (b) fAfAT =T / Mixed fraction

(c) 3ifa &=t / Super fraction (d) 31?31%?!' et / Improper fraction

4, 8 3 12 & LCM T 7
What is LCM of 4, 8 & 12?

(a) 4 M) 8
(©) 24 d 12

T SR 3T T e (v, e, Ao A e B

Class of oil based fire (grease, gasoline, oil and liquefiable solids)

(a) @ ‘A’ / Class ‘A’ (b) @ ‘B’ / Class ‘B’
(¢ @ C / Class ‘C (d) @ D / Class ‘D’

aﬁwﬁéaﬁawy@wmz%lmaﬁammmma’réwsﬁwa;mm
AT Hfsrw]

The ratio between two numbers is 4 : 2. The difference between them is 10. Find the
product of two numbers

(@) 20 ®b) 50
() 100 @ 200

aﬁsm?uso%ﬁr/aarﬁmﬁrﬁwaﬂ?ﬁ%lwaﬁmﬁmzﬁr%m#qaaﬂ
FIA &1 ST AT & 3 §;

Vande Bharat travel at a speed of 180 km/hr. A bus travels a distance of 30 Km in
30 minute. The ratio of their speeds is;

(@ 1:3 b 6:1
€ 3:1 (d)
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62.

63.

64.

65.

66.

67.

‘River Indie’ is an

(a) & & AT / Name of a River (b) Soifgew & / Electric Scooter
(c) gelfdgs dedl / Electric battery (d)  =fSeT ®AA / Charging station

afe x:y=9:3,ar (6x+7y):(6x+2y) g
If :y=0:8, then (6x+7y):(6x+2y)is
(a) 5:4
b 7:4
(¢ 8:5

(d) 3WFT H & PIS A8l / None of the above

20 WH I dle U Jed T IR §
The circumference of a circle of diameter 20 e¢m is
(a) 62.8 THT / 62.8 cm (b)  6.28 A / 6.28 cm

(c) 628 TH / 628 cm (d)  0.628 ¥HT / 0.628 cm

i@ & 4, Riegd Raw a7 & fv 5w Tl @ sgahr far s &2

Among the following, which material is used for making electrical switches?
(a) SiFEET / Bauxite (b) dhensc / Bakelite
(¢ MfRfF/ pPvC (d) USEE / Ebonite

YeTd @1 9 AU S 3 A g gl § deww a1 udeh wext F qor F gemar o
[T &;

The property of the material which enables to be hammered or rolled into thin sheets
without rupture;

(8) deIdr / Ductility (b)  3eATH / Fusibility
(c) H&ROT 9fARIET / Corrosion resistance (d) ITEaEYHEdr / Malleability

el 9e1e T Udcq 38 weR aRena T sar £

The density of a substance is defined as
(a) 3TATST HT Uld SHE W geIAT / Mass per unit of volume

(b) HIAA T 9T SHS T A / Weight per unit of volume
() EETATT R AT & AUAHS / Product of Mass and Volume
() 390ed # & PS5 78T / None of the above
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68. 1024 ¥

V1024 is
(a) 24 ®) 27
() 32 (@ 30

69. TH NS & ¢ 10 WA AR 15 FAr | aRAW (P) AR TAFT WAa1$ (1) Hr A0 A

The sides of a rectangle are 10 cm and 15 cm. Calculate the perimeter (P) and diagonal

length (1)

(@ P=60, [=+/350
(b) P=50, 1=4/325
€ P=45,1=4/360
d) P=50, 1=+/350

70. Ifg ol 9ot 1 & 900 fAe B, A 3HI Ueh o T waTS F4T grem?

If the area of a square is 900 mm, what is the length of its one side?
(a) 25 AT / 25 mm () 35 AT / 35 mm

(¢ 20 @&#Y / 20 mm (d 30 AT / 30 mm

71. g I1=12 ufEgaR 3 V=360 diec §, al WiaRId & AT ATd 6L

Find the value of resistance if I = 12 Amps and V = 360 Volts
(a) 36 30H / 36 Ohms (b) 26 3H / 26 Ohms

(¢) 30 3% / 30 Ohms (d) 40 379 / 40 Ohms

72. WRA H el fosrel &

The household power in India is
(a) 220V, 50 Hz (b) 240V, 100 Hz
() 110V, 50 Hz (d 110V, 100 Hz
A 16 778-TN(MAE)




73.

74.

75.

76,

17,

@ & Al AT HIfav]
Find the value of &.

40cm

£N
20cm

(a) 60° (b) 450
() 30° (d)  15°

el qere o7 a5 IoT fored FRUT 9 HUA e R F ATIH 3T ST ¥, FEerar &
Property of a substance by which it returns back to its original shape is called:

(a) JTETAGEARIET / Malleability (b)  deIaT / Ductility

(¢) TeMREETAE / Plasticity (d) = / Elasticity

hicdsl # glr #T FaUAHR §
The boiling point of water in Kelvin is

(a) 273K (b)  100°K
© 373K d 173K

Th 5 o 60 H T 24 WRAT & FEN el BU| frder afayra weat & Ieaw e 972

A boy answered 24 out of 60 questions correctly. What percentage of questions were
answered incorrectly?

(a) 60% ®)  40%
© 54% @  46%

U THel I GACT H Forar 5% H g g &1 I aIAE atear 2205 &, o 2 af
Ugel SHT &THAT Tohdelr 2f?

The strength of a school increases by 5% annually. If the present strength is 2205, then
its strength 2 years ago was?

(@) 2100 () 1900
() 2105 (d 2000
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78.

79.

80.

TH ded @ A Toic ‘BH & Y Uoliehd &l XXBH25XXXX €T # BH &7 &7

I g?

The number plate of a vehicle is registered with ‘BH’. What does BH stand for in

XXBH25XXXX format?

(a) TER / Bihar
(b) &R / Bharat
() &% 31gdrr / Bank Holiday

(d) cuUdeIke TG / Behavioral health

Solggifoleh el Tag H RFID &1 g7
What is RFID in Electronic Toll Collection?

(a) WrEeAT / Fastag
(b) §deaT / Hachtag
() SRS / Barcode

(d) 3T @A / All of the above

yrafAs RfFcar J, ABC &1 319 §;
In first aid, ABC refers to;

(a) UFHIOlEX, s 3 ForT / Accelerator, Brake and Clutch
(b) 3HBTE, siig 3R T / Assist, Breathe and Carry
(¢) WA, shifear 3R H;ﬁ'ﬁm | Airway, Breathing and Circulation

(d) 319, s 3m3e 3R ST / Away, Branch out and Carry
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